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QUESTION 1

Which of the following statements about the ontape utility is TRUE?

A. Itcan be used to backup a database to a tape device or file system, or directory.
B. It can be used to backup operating system files in addition to databases.

C. It can be used to backup and restore different storage spaces in parallel.

D. It can be used tobackup a database to tape devices only.

Correct Answer: A

QUESTION 2

TheXYZ Company\\'s failover recovery strategy requires a backup site; however, they do not have a constant or

uninterrupted communication link to that site. What type of high availability configuration should be used?
A. Two Shared Disk Secondary (SDS) servers with hardware disk mirroring

B. A High Availability Data Replication (HDR) secondary server running in SYNC mode

C. Continuous Log Restore (CLR) with backup and recovery

D. Enterprise Replication (ER)

Correct Answer: C

QUESTION 3

Which Informix utility can be used to create a snapshot of an instance, including the data?
A. dbaccess

B. onspaces

C. onbar

D. ifxdeploy

Correct Answer: D

QUESTION 4
Which of the following configurations would suggest that an Informix server is tuned for a DSS workload?

A. PDQPRIORITY is set to the value "HIGH".
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B. There are more transactions than queries.
C. Database or table logging is turned on.
D. A task is configured to capture Checkpoint data every two hours.

Correct Answer: A

QUESTION 5

Why does a database execute a checkpoint operation?

A. To ensure that runaway queries are stopped before consuming all the system resources.
B. To synchronize the pages in a primary dbspace with a mirrored dbspace.

C. To update statistics for large tables currently being accessed by queries.

D. To synchronize the pages on disk with the pages in the shared-memory buffers.

Correct Answer: D
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